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GENERAL INSTRUCTIONS TO THE EXAMINEES :
(1) ORIET FEvee 3704 U9--U3 WX A e fod |
Candidates must first write their Roll Nos. on the question paper compulsorily.
(2) @t U & HRA A |
All the questions are compulsory.
(3) VS YUY I IR I TS SU-YRaashT H &l ford |
Write the answer to each question in the given answer-book only.
(4) 59 we 9 ST @UE &, 39 9t % ITR U A1 & ford |
For questions having more than one part, the answers to those parts are to be written
together in continuity.
(5) TGN 1 ¥ 6 qh (FGIahedT U¥T) & I AMNCIHT SR STR-GTshl § ford |
Write the answers of Question Nos. 1 to 6 (multiple choice) by making a table in your
answer-book.

(6) VU & &= I TS TR | Tohddl TR i Jfe / SR / ToRemra e W g5t 9o o uee i
2 T T |
If there is any error / difference / contradiction in Hindi and English versions of the
question paper, the question of Hindi version should be treated valid.

1. Tt 5 9 & & GO €

(31) TR (@ "X @) HT () HTEe
The Rabi crop in following is :
(a) Maize (b) Peas (c) Green gram (d) Ground nut 1

2. oo S st o fefated § 9 S €
(30 @R (F) AT HeH (W) el ual () FO T
Example of extinct animal species in following is :
(a) Hawaii Crow (b) Vyoming frog(c) Dodo bird (d) Black buck 1
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3. &GS H B B T ST HEeAT! & —

(31) o @) o IR IES] @) T

The capacity of doing work in objects is called —

(a) Force (b) Momentum (c) Power (d) Energy 1
4. YR 5T STANET § 9T T v B SWE B AH € -

(31) SN (F) AR (F) HEIA-I () TSI

The name of the first Indian artificial satellite launched in space is —

(a) Aryabhatt (b) Bhaskar-I (c) Kalpana-I (d) Insat-I 1

5. T TR [RT0T foet AT § WO AT | YA Al § | T el Teheid u &

A light ray enters into a denser medium from a rare medium. Its right optical path is

@ N\ 1

The telephone number for women’s security helpline is

(a) 100 (b)y 104 (c) 102 (d) 108 1
7. TAfeted @ gafed S

X Y
(A) Ta@ved (i)
(B) qPe™ (ii) T
(C) 3y <= (iii) I
(D) Wi ST (iv) TS
Match the following :

X Y

(A) Fragmentation (1) Mustard
(B) Budding (1) Banana
(C) Parthenogenesis (111) Yeast
(D) Sexual Reproduction  (iv) Spirogyra 2

8. HMH g8 HT AR (o e |
Draw a labelled diagram of human heart. 1+1=2

9. 37U I e % URIUT % MER WX ST U ST o S0l Sy o ferfast St uel Tiferst
ST B T |

Give the two-two examples of the things which store kinetic energy and potential energy in
it on the basis of daily life observation. 1+1=2

10. FHH SUE F Y 7 GHIAS & 2 T fohe- UBR o &l & ? 7 fearau |

What do you understand with artificial satellite ? How many types of these are ? Write the
names. 1+1=2
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11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

3
Thalld T T2 o [T STar g {hT ST o1t g1 i fafaw |

Write two work (task) to be performed by public to overcome the cyclone. 1+1=2
T H GRS IS A1g, 9T H AR T T8l € 2

Why the cold air from sea water starts flowing towards land in summer ? 2
TR UGHOT =0T & IR 34 {Arau |

Write four steps for control of air pollution. 2
T&aTe & wHcA Bl B ool diF o feray |

Write the three benefits of irrigation to crops. 3

HTqE STeT o GreT STTSHAT ek SR ST & 2 TS 3t Tt o 1 B aTell STTfshaT sl HefTd shifey |
What is formed when metal react with water ? Write the reaction of sodium with water. 1+2=3

o

AT AT A9 g Wl fohdl Fed € 2 THeed | ST Wesh % g1 SUNT fof@y |
What is thermosetting plastic ? Explain. Write two uses of thermosetting plastic. 1+1+1=3

I S 9 37T T THLA & 2 e ST & I’ o foifaw |

What do you understand by vegetative reproduction ? Write four benefits of vegetative
reproduction. 1+2=3

BT SHUTSH feohe= THR &t Bill & 2 37k 19 feAf@u | vad SfeR wivrwtat & 3 6 fof@y |
How many types of blood corpuscles ? Write their names. Write the two functions of white
blood cells. a+12+1=3

T T AT 400 FHEF YT A H 4 FhUg H IOF el & | ST T 1 i |
A musical instrument takes 4 seconds to complete 400 oscillations. Calculate the frequency of it. 3

&S TGEUT & 3119 T THer € 7 i UguuT i HiHd Y& % IR 3UE fef@n |

What do you understand by sound pollution ? Write four measures to limit the sound (or
noise) pollution. 1+2=3

YT HfiTen St R fefian | gee IX SR T Hrenfirenr o Tl &t ek A o 1 foffaw |

Write the definition of information technology. Write two names of telecommunication
medium of information technology based on internet. 1+2=3
T TN T THNT § WLMR i g8 A o o0 {50 TepR SU=T fohan ST bt & 2 J9emed |

How the information technology can be used to remove the corruption from the society ? Explain. 3

e fohd hed & 2 T @ W Sliek B FereR Y el ot 41 fe@ms 3am & 2 for afed aremsd |

What is refraction ? Why a coin seems lifted in glass beaker filled with water ? Explain with
diagram. 1+1+1=3

JIATEROT | 3TTIeHT ST AT & 2 URTER0T TR0 | ST 3t e T) WehreT SifeTy |
What do you mean by environment ? Explain the role of Rajasthan in environment

conservation. 1+2=3
ERT qAT YIRS 6 O W A 3R e |
Write the three differences between diamond and graphite. 1+1+1=3
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26. TEH IS H ITSThel Fgd oI ol G &l Wl & | [ g3t ¥ =g & o 3ur felfan |

Many persons lose their lives in road accidents. Write three basic ideas to stay away from
the road accidents. 1x3=3

27. T % T BRUT € ? I © 8 dTel IR gure @y |
What are the causes of Deforestation ? Write the four harmful effects of Deforestation. 1+2=3

28. TR SAAGHAT | T T T & 7 SRR SHAT T TT=d AR H ST [ehay |
T SATIIHAT 1 Teh-Ueh S3TEXVT {oAf@q | STieRdTehur STTIsha o1 ATifehd forst ST |
AT
TSt A STaee STIihaT 7 € 2 hicHad HEH (T T IISST) H TRY HH W e el 19
T & UM H HaTfed R TR T8 ST 1 S § 2 GHeed | ot 1 ATmitehd o s |
What do you understand with chemical reaction ? Differentiate between oxidation reaction
and reduction reaction. Write one-one example of each reaction. Draw a labelled diagram of
oxidation reaction. V2+2+2+1%=6
OR
What is dissociation or decomposition reaction ? Why lime water becomes milky white
when exposed by the gas which is liberated by heating calcium carbonate ? Explain. Draw a
labelled diagram of dissociation reaction. V+42+2+1%=6

29. TSH &I [ AW AT | T/ I % & & IR HROT [ARGT | HIV STE3d 31 ATk (o s1ed |
reran
TS T T &I & 2 TETe U] i AT o IR SUT ARGy | ekl (JoRdi) §IRT Jehl STH STl &1 e
% M felfEan |

Write full abbreviation of AIDS. Write four causes of this disease. Draw a labelled diagram

of HIV virus. 2+2+2=6
OR

What are the causes of Swine Flu ? Write four ways of prevention of Swine Flu. Write the

name of two diseases which can be prevented by vaccination. 2+42+42=6

30. TogA 9T % T TWE H O G GRS | 3H UWE W HE I ol & IUHON 6 A
Aty | foRId 9uet ST ATHiTha o SR THeh! HRNUTCH qHE |
AT
ToreIa &1 o T T i [ S Eed | 39 U9 % &1 ST forEu | foRd oo oty
1 AT fore ST FHEEd |
Explain the magnetic effect of current with help of diagram. Write the name of two
apparatus working on this principle. Explain the working of electric bell by drawing its

labelled diagram. 2%2+1+22=6
OR

Explain the chemical effect of current with help of diagram. Write the two applications of

this effect. Explain the electroplating method with help of a diagram. 2%2+1+22=6
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